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R(5007.)1R(5008.)9R(5009.)QR(SOIOo)vR(SQII.)9R(5012.):NA;
MAR¢SEP ¢DIVeMSPeMSAsWID=NA;

MAR1= R(420.51); MAR2= R(116€6.51); MAR3= R(1970.50);

MAR4= R(3119.51); © MARS= R{3962.51); MARG6= R(4305.51);
DIV=NA; SEP=NA; WID=NA; MSA=NA; MAR=NA; MSP=NA;

MAR41=NA; MAR&42=NA; MAR&43=NA; MAR44=NA; MAR4S5=NA; MAR4H=NA;

IF MARG6=NA , , THEN GO TO SKIP2;

IF MAR2=NA € MAR3=NA ) A THEN GO TOD SKIP2;

IF MARZ=NA & MAR4 = NA h . THEN GO TO SXIP2;

IF MAR2=NA & MARS=NA- , - , : THEN GJ TO SKIP2;

IF MAR3=NA & MAR&4=NA ' THEN GO TC SKkIpP2;

IF MAR3=NA & MARS=NA ' THEN GO TD SXIP2;

IF MAR4=NA & MARS5=NA THEN GO TO SKIPZ2;

IF MARZ2=NA & MAR3>=1 & MAR3<=6 THEN MAR2= MAR3;

IF MAR3=NA & MAR4>=1 & MAR4<=6 THEN MAR3= MAR%; -

IF MAR4=NA & MARS5>=1 & MARS5<=6 , ' THEN MAR4= MARS;

1F MARS5=NA & MAR6>=1 & MAR6<L=6 ' THEN MARS= MARG6;

IF MAR1-=6 & MAR2-=6 & MAR3I-~=6 & MAR4-~=6 & MARS-=6 & MARSH =6 THEN MAR6=MARS;

TF MAR1-~=6 & MAR2-~=6 & MAR3-=6 £ MAR4-~=6 & MARS =6 £ MARG6~z=6 THEN MARS5=MARG;

"1F MAR1-=6 & MAR2-=6 & MAR3-=6.& MAR4 =6 & MARS5-=6 & MAR6~=6" THEN #MAR4=MARS;

IF MAR1-~=6 & MAR2-~=6 £ MAR3 =6 & MAR4-~=6 & MARS5-=6 £ MAROG-=6 THEN “YAR3=MAR4;

TIF MAR1-~=6 &€ MAR2 =6 £ MAR3-~z=6 & MAR4-~=6 & MARS==6 & MAR6E~z=6 THEN MAR2=MAR3;

D0=0; D1=0; D2=0; E3=0; D4=0; D5=0;

TC MARL=4 & MAR2>=1 & MAR2<=6 THEN DO=1; -
{(MARL1>=1 €& MAR1<=3) | (MAR1>=5 & MAR1<=6)) & MAR2=4 THEN Dl1=1; .

<F ((MAR2>=1 & MAR2<=3) | (MAR2>=5 & MAR2<=6)) & MAR3=4 THEN D2=1;

IF ( (MAR3>=1 £ MAR3<=3) | (MAR3>=5 & MAR3<=6)) & MAR4=4 THEN D3=1;

IF ((MAR4>=1 & MAR4<=3) | (MAR&4D=S5 & MAR4<=6)) & MARS=4 THEN D4=1;

IF ((MARS>=1 & M4RS5<=3) | (MARS5>=5 & MAR5<=6)) & MARs=4 THEN D5=1;

RETURN=1;
GO TO ASSIGN; ~
FIXDIV: DIV= TEMP;
D0=0; D1=0; 0D2=0; D3=0; 04=0; D5=0;
1F MAR1=5 & MAR2>=1 & MAR2<=6 . . THEN DO=1;

IF ((MARL1>=1 & MaR1<=4) | MAR1=6) & ™MAR2=5 THEN Dl=1;
IF ((MAR2>=1 & MiR2<=4) | MARZ2=6) & MAR3=5 THEN D2=1;
IF ((MAR3>=1 & M4R3<=4) | MAR3=6) & MAR4=5 THeN D3=1;
IF ((MAR4>=1 & MAR4<=4) | MAR4=6) &t MARS=S5S THEN Da=1;
IF {{MARS5>=1 & MaR5<=4) | MARS5=6) & MAR6=5 THEN D5=1;
RETURN=2;

GO TO ASSIGN;

FIXSeEP: SEP= TEMP; ) -

D0=0; D1=C; D2=0; 0£3=0; 04=0; D5=0; .

1F MARI=3 & MAR2>=1 & MAK2<=6 THEN DO=1;
IF ((MAR1>=1 & MAR1<=2) | (MAR1>=4 & MAR1<=6)) & MAR2=3 THEN D1=1;
IF ((MAR2>=1 & MAR2<=2) | (MAR2>=4 & MARZ<=5)) & MAR3=3 THEN D2=1;3
IF ((MAR3>=1 & MAR3<=2) | (MAR3>=4 & MAR3<=6)) £ MaR4=3 THEN D3=1;
1F ({MAR4>=1 & MAaR4<=2) | (MAR4>=4 & MAR4<=6)) & MARS=3 THEN D4=1;
IF ((MARS>=1 & MARS5<=2) | (MARS5>=4 & MAR5<=6)) &

MARH=3 THEN D5=1;
STURN=3;

Jd TO ASSIGN;




March,

. ,. ~Rage 2
. _FIXWID:..WID= TEMP; S— - —
T DO0=0; D1=0; D2=0; 03=0; D4=0; D5=0;
IF MAR1=2 & MAR2>=1 £ MAR2<=6 THEN DO=13
F (MAR1=1 | (MAR1>=3 & MAR1I<=6)) & MAR2=2 THEN D1=13
LF (MAR2=1 | UMAR2>=3 & MAR2<=6)) & MAR3=2 THEN D2=1;
IF (MAR3=1 | (MAK3>=3 & MAR3<=56)) & MAR&4=2 THEN D3=13
1F (MAR&=1 | (MAR4>=3 & MAR4<=6)) & MARS5=2 THEN D4=13;
IF (MAR5=1 | (MARS>=3 & MARS5<=6))it MAR6=2 THEN D5=13:
RETUKN = 4;
GO TO ASSIGN;
FIXMSA: MSA= TEMP;
00=0; D1=0; D2=0; D3=0; D4=0; D5=0;
IF MAR1=1 & MAR2>=1 & MAR2<=6 THEN DO=1:
IF MAR1>=2 £ MAR1<=6 & MAR2=1 THEN Dl=1;
IF MAR2>=2 £ MAR2<=6 & MAR3=1 , THEN D2=1;
IF MAR3>=2 & MAR3<=6 & MAR4=] THEN D3=1;:
IF MAR4>=2 & MAR4<=6 & MARS=1 THEN D4=1;
iF MARS>=2 & MARS5<=6 £ MAR6=1 THEN D5=1;
RETURN=5; :
GO TO ASSIGN; - -
ASSIGN: TEMP=NA; , .
IF DO=1 & D1=0 & D2=0 & D3 =0 & D& =0 & D5 =3 .
THEN TEMP= 0;
IF DU=1 & D1=0 & D2=1 & D3>=0 & D3<=1 & D4>=0 & D4<=1 & D5>=0 & DS<=1i
- THEN TzMP= 2;.
IF DO=1 & D1=0 & D02=0 & D3 =1 & D4>=0 & D4<=1 & D5>=0 & D5<=1
- - : THEN TEMP= 3;
1F DO=1 & D1=0 & %D2=0 & D3 =0 & D4 =1 & DS>=0 & DS5<=1
. . THEN TEMP= 4;
_.F D0U=1 & D1=0 & D2=0 & D3 =0 & 04 =0 & D5 =1 .
- - - THEN TEMP= 5;
IF DO=0 & Dl=1 & D2=0 & D3 =0 & D& =0 & D5 =0
- THEN TEMP=1i1;
IF DO=0 & Dl=1 & D2=0 & 03 =1 & D&4>=0"& D4<=1 & DS>=0 & 25<=1
- p THEN TEMF=13;
IF DO=0 €& Dl=1 £-D2=0 & D3 =0 & D4 =1 & DS5>=0 & DS<=1
o THEN TEMP=14;
IF DO=0 & Dl=1 & D2=0 & D3 =0 & D4 - =0 & DS oo=1
* . THEN TEMP=iS;
IF DO=0 & D1=0 & D2=1 & D3 =0 & D& =0 & DS =0
. : THeN TEMP=22;
IF DO=0 & D1=0 & D2=1 & D3 =0 & D& =1 & DS =Q
’ , THEN TEMP=24;-
iF DO=0 & D1=0 & D2=1 & D3 =0 & D& ' =0 & DS =1
;o . THEN TEMP=25;
IF DO=0 & 0l=0 & D2=0 & D3 =1 & D& ; =0 & b5 =J
: ‘ ; ~. THEN TEMP=33;
I1F DO=0 & D1=0 & D2=0 & D3 =1 & D& =0 & DS =1
- : THEN TEMP=35;
IF DO=0 & D1=0 & D2=0C & 03 =0 & D& . =1 & uS =0
. a { THEN TEMP=44;
IF DO=U £ D1=0 & D2=0 & D3 =0 & D& . =9 & DS , =1
% THEN TEMP=55;
IF DO=0 & D1=0 & D2=0 & L3 =0 & D& =) & US =90
' THEN 'TEMP=99;
1F RETURN =1 THEN GO 10 FIXD
IF ReTURN =2 THEN GO TO FIXS
IF ReTURN =3 "THEN GO TO FIXw
IF RETURN= & . __-THcN GO TQ.FIxv
"IFRETURN=S T~ T " THEN GO TO

F I_X;'v



-FIXMSP;__MSP=_TEMQ;
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1F MAR1=1 | MAR1=2 | MAR1=5
ELSE IF MARL=6
d " MAR41= MAKL; )
. AR2=1 | MAR2=2 | MARZ2=5
ELSE IF MARZ2=6
ELSE MAR42= MARZ;
IF MAR3=1 | MAR3=2 | MAR3=5
ELSE IF MAR3=6
ELSE MAR43= MAK3;
1F MaR4=1 | MAR4=2 | MAR4=5
ELSE IF MAR4=6
ELSE MAR44= MAR4;
i1F MAR5=1 | MAR5=2 | MARS5=5
ELSE IF MARS=6
tLSE MAR4S= MARS;
1F MAR6=1 | MAR6=2 | MAR6=5
tLSE IF MARG6=6
ELSE MAR46= MARG6;
M0=0; M1=0; M2=0; M3=0; M4&=0; M5=0;
IF MAR41>=2 & MAR41<=4 & MAR42>=2 & MAR42<=4
IF MAR41=1 & MAR42>=2 & MAR42<=4
iF MAR41=3 & ( MAR42=2 | MAR42=4)
IF MAR41=4 & MAR42>=2 & MAR42<=3
IF MAR42=1 & MAR43>=2 & MAR43<=4
IF MAR42=3 & ( MAR43=2 | MAR43=4)
IF MAR42=4 & MAR43>=2 & MAR43<=3
IF MAR43=1 & MAR44>=2 & MAR44<=4
IF MAR43=3 & { MAR44=2 | MAR44=4)
VaR43=4 £ MAR44>=2 & MAR&44<=3
. MAR44=1 & MAR45>=2 & MAR45<K=4
IF MAR44=3 & ( MAR4S5=2 | MAR4S5=4)
IF MAR44=4 £ MAR4S5>=2 & MAR45<=3
IF MAR4S5=1 & MAR46>=2 & MAR46<=4
I1F MAR4S=3 & ( MAR46=2 | MAR46=4)
1F MAR4S5=4 § MAR46>=Z & MAR46<=3
iF MO=C & M1=0 & M2 =0 & M3 - .- =0
M5 =0
IF MOg=1 & M1=0 & M2 =0 & M3 =0
MS =0 . .
I1F MU=1 & Ml=1 & M2>=0 & M2 <=1 & M3>=0 & M3<=1l
M5>=0 € M5 =1
iF MO=1 & M1=0 & M2 =1 & M3>=0 & ™M3<=1
M5>=0 & M5 <=1
IF MO=1 & M1=0 & M2 =0 & M3 =1
M5>=0 & M5 <=1
IF MO=1 & M1=0 & M2 =0 & M3 =0
M5>=0 & MS <=1
iF MO=1 & M1=0 & M2 =0 & M3 =0
MS =]
IF MU=0 & M1=1 & M2 =0 & M3 =0
M5 =0
1F M3=0 & Ml=1 €& M2 =1 & M3>=0 & M3K=1
M5>=0 & M5 (=1}
O MO=0 & Ml=1 £ M2 =0 & M3 =1
>=0 & M5 <=1
1F MO=Q €& Ml=1 & ™2 =g & M3 =0
»5>=0 & M5 <=1
=1 & M¢ =0 & M3 =0

IF MO=Q0 & M1
M5 .

—

THEN MQ=
THEN =

THEN
THEN

M1=1;
M2=13

THEN
THEN

M2=13
M3=1;

THEN
THEN

M3=13
M4=13

THEN
THEN

M4=13
MS=13

THEN MS=1;

& Ma
& M4>=0 &
& M4>=0 &

& M4>=0 ¢

£ M4
& M&
£ M4>=0 &

& M4>=0 &

o
2
»

THEN
THEN

MAR41=2;
MAR41=1;

THEN
THEN

MAR42=2;
MAR42=13
THeN
THEN

MAR43=2;
MAR43=1;

THEN
THEN

MAR&44L=2;
MAR44=1;

THEN
THEN

MAR4S5=2;
MAR45=1;

THEN
THEN

MAR46=2;
MAR46=1;

THEN M1=1;

THEN M2=1;

THeN M3=1;

THEN M4=13

THEN M5=];

=0 ¢
THEN MAR=95;
=0 &
THEN MAR=
Me <=1 &
THEN MaR= 1;
M4 <=1 &
THEN MAR=
M4 <=1 &
THeMN MAR= 33
=1 &
THEN MAR= &3
=0 ¢
THEN MAR=
=0 &
THEN -MAR=11;
M4 <=1 ¢
THEN MaR=12;
M4 <=1 ¢
THEN MAR=133;
=1 ¢t
THEN MAR=14;
=0 ¢
THEN MAR=15;

Q3

53
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— [F-MQ=0—& M1=0-£ -M2 =}—&-M3 =0—&—M4 =0—E—

M5 =0 THEN MAR=22;
TF MU=0 & M1=0 & M2 =1 & M3 =] & M4>=0 £ M4 <=1 &
'5>=0 & M5 <=1 THEN MaR=23;
.F MO=0 & M1=0 & M2 =1 & M3 =0 & M4 =1 €
M5>=0 & M5 <=1 THEN MAR=243
IF MO=0 & M1=0 & M2 =] & M3 =0 & M4 =0 ¢

MS =1 THEN  MAR=25;
IF MO=0 & M1=0 & M2 =0 & M3 =1 & M4 =0 ¢

MS =0 THEN MAR=33;
1F MO=0 & M1=0 & M2 =0 & M3 =1 & M4 =1 €&
M5>=0 & M5 <=1 , : THEN MaR=34;
1IF MO=0 & M1=0 & M2 =0 & M3 =1 & M4 =0 ¢

M5 =1 THEN MAR=335;
IF M0=0 & M1=0 & M2 =0 & M3 =0 ‘& M4 =1 ¢

M5 =0 THEN MAR=44;
IF MO=C & M1=0 & M2 =0 & M3 =0 & M4 =1 &

M5 =1 THEN MAR=453
IF MO=0 & M1=0 & M2 =0 & M3 =0 & M4 =0 &

M5 =1 THEN MAR=S55;

SKIP2: (

R{5007.)=MAR;
R{5008.)=SEP;
R{5009.1=D1V;

R({5010.)=MSP;

R{50114)=MSA;
R(5012.)=WID;



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	APPENDIX 43-2003.pdf
	APPENDIX 43: THE NLSW 2003 
	SAS CODE FOR CREATED VARIABLES 
	REASON FOR NONINTERVIEW R76149.00 
	ELIGIBLE TO BE INTERVIEWED R76150.00 
	FOR COMPLETED INTERVIEWS IN 2003 
	MONTHLY LABOR RECODE FOR THE HUSBAND/PARTNER R7610900 
	HIGHEST GRADE COMPLETED R761100 
	TOTAL NET FAMILY ASSETS R7611100 
	SUMMATION R7611300 AND NET FAMILY INCOME R7611200 
	HOURLY RATE OF PAY R7611800 - R7613400 R7613500-R7614800 
	CK-HES-D R7091600    
	CK-RES-D R6671000 
	WBID R7611400, WORK R7611500 WUMP R7611600 WOLF R7611700 
	AWW R7610600 
	NEMPS R7610700 

	 Text responses to selected questions from NLSW03 





